ARNTEREFSREHFEHT - AOKEFR

TR 25FE7AKRBHE
Trk25%7H%KH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BAAEEAAQD 26,615 34,637 37,017 71,654 BAAERAAQD 26,590 34,628 36,996 71,624
SNEAERAO 190 226 240 466 SNEAERAO 189 228 238 466
KENMAB 26,805 34,863 37,257 72,120 KENHAB 26,779 34,856 37,234 72,090
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR EETHbiz AR EHET 1,058 1,434 1,420 2,854 B — Al =2 252 305 341 646 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 789 908 942 1,850 . ¥ /N 120 162 173 335 HWmE—TH 794 897 998 1,895 wu&aE—THB 0 0 0 0
2 T 75 Hh 35 AKHET T 204 211 235 446 =H 111 147 156 303 WEZTH 555 678 755 1,433 WUE=TH 0 0 0 0
ZA T B Hh 3 N 870 1,003 1,074 2,077 A T S B 70 91 106 197 WE=TH 263 333 385 718 WILE=TH 0 0 0 0
TR s TR 1,011 1,243 1,371 2,614 pN:5 194 241 242 483 WEMTH 198 259 288 547 WILEMTHB 0 0 0 0
T/ E i H/E 470 563 602 1,165 ETEFE 18 27 29 56 WEATH 769 1,042 1,152 2,194 BWILERTHB 0 0 0 0
K2 A EELW 193 229 277 506 FAFTET 169 170 214 384 FENARTH 89 118 121 239 WILEARTE 0 0 0 0
ma 106 161 156 317 T Hh i FhTET 126 143 159 302 W&EtTH 186 255 267 522 wWLUEtTH 54 73 83 156
iR ithig iR 256 321 367 688 L FrHET 133 178 168 346 HES—TH 0 WILE/NTE 0 0 0 0
AR s ZAR 1L 95 105 144 249 Fa ET 174 220 264 484 HEEZTH 224 310 314 624 WILEATE 0 0 0 0
KE 821 968 988 1,956 iclii) 16 22 29 51 HEEB=TH 10 10 12 22 wua+TE 0 0 0 0
dt 2 [E iz dzE 444 518 521 1,039 i = Hhig Fh T 35 32 48 80 HEEMTH 0 wua+—TH 0 0 0 0
ot B st i 159 193 188 381 BRHET 105 120 133 253 HESRTH 278 345 389 734 BWuE+=TH 0 0 0 0
i) i 186 217 230 447 % 79 77 104 181 HEBARTH 172 232 245 477 BWUE+=TH 0 0 0 0
4 this He 2,854 3,582 3,966 7,548 RifiFE 138 159 192 351 HEELTH 340 401 445 846 INEt 54 73 83 156
HZE A Hhis HES 1,662 2,076 2,281 4,357 AR o ERE—TH 54 59 75 134 HES/NTH 379 493 539 1,032 =1 11,145 15,455 16,281 31,736
ARGt KZNE1~4TH 784 1,000 1,098 2,098 BRE=TH 280 333 368 701 HMESNLTH 259 285 337 622
a2 & Ki2)I185~9T B 1,493 2,345 2,364 4,709 ERE=TH 43 64 67 131 AZN&—TH 340 421 465 886
W R A thig MWERE 2,141 3173 3,245 6,418 il 63 63 73 136 KEZJNEZTH 100 126 138 264
XA iz HmxEA 2,157 3,206 3,244 6,450 ek 37 25 40 65 KEINEBZ=ZTHE 344 453 495 948
LA Hh i wIlE 54 73 83 156 it 39 52 57 109 KZJNEMTH 0
=11 17,807 23,529 24,796 48,325 hnyE R ER iz INGE 58 59 65 124 KENEBEETHE 241 408 393 801
INST 80 77 81 158 RZJIIBATE 562 820 818 1,638 (FH)
AARAERHE- A O£ (IHILEE) §4 5 84 90 109 199 R2NEETH 326 505 520 1025 X5 s 4 5 % i
(LI EH 27 36 4 77 KENEBE/NTBE 364 612 633 1,245 mmEae—TH 164 211 222 433
1T I 4 BRI L 5 = &t HERE 103 111 130 241 KEINEATHE 0 mmE&e=TH 140 154 184 338
5 F st tisE 180 254 307 561 fit] W} 117 156 161 317 MWREE—TH 491 754 720 1,474 EMEXE=TH 140 164 185 349
[Fap il 399 563 589 1,152 TR 101 116 148 264 MREEZTH 121 189 191 380 AmEemTH 118 132 153 285
A6 3 B #thig FEE 393 590 589 1,179 [i] 47 53 59 112 MEE=TH 239 353 377 730 EMXEETH 54 66 69 135
T E i MTE 647 879 909 1,788 HRIR Hhig H 32 38 43 81 MREMTH 260 362 392 754 mAMmXEaNTH 164 197 209 406
HEF 60 62 90 152 BRI 64 70 91 161 MWRERTH 257 397 405 802 mmEaetTH 150 192 214 406
=58 desal R 131 182 198 380 IhEF 72 85 99 184 MWRENTH 292 419 423 842 EmE&/\TH 183 231 246 477
B 222 354 380 734 mp 36 47 54 101 MWREETH 263 404 411 815 mAMXaEATH 185 218 243 461
e 46 47 75 122 B3 4 38 4 50 91 MWRE/NTH 218 295 326 621 mmEae+THE 183 216 234 450
a1 52 78 89 167 aih 37 43 48 91 wmEE—TH 279 329 329 658 mEmnxeE+—TH 253 311 330 641
EI\2 130 166 208 374 B/ 13 17 16 33 BEE-TH 365 546 530 1,076 mEmnEe+=TH 217 296 293 589
IRt &R i £33 75 100 132 232 N 5 6 5 11 BEXE=TH 330 533 539 1,072 mmEae+=TH 155 189 203 392
tiRa 54 74 84 158 CiEgN 32 49 47 96 HwEEMTH 265 412 438 850 mEmnEE+mTH 120 156 177 333
a5 98 140 141 281 BTF 20 30 27 57 BEERTH 343 532 566 1,098 mAnEae+aETH 135 184 171 355
tine 146 180 198 378 L TFF 15 22 22 44 BESNATH 301 504 496 1,000 &&t 2,361 2,917 3,133 6,050
ER\7 67 90 86 176 = 10 13 12 25 mEELtTH 274 350 346 696
LRt ithig EIA8 95 125 126 251 =2E 9 7 11 18 wmEE/NTH 0 0 0 0
ti¥a9 113 141 159 300 i35 6 6 5 11 INET 11,091 15,382 16,198 31,580
tJR10 89 113 134 247 PNy i 14 11 17 28
WEXN 25 24 23 47 it 30 44 50 94
= REX S 5 6 6 12 %53 48 58 76 134
EREEHN 66 48 60 108 RN & thig Emxa 2,361 2,917 3,133 6,050
=11 3,093 4216 4,583 8,799 =1l 5715 6,892 7,638 14,530




